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Reg. No.

V Semester B.Com./BCTT/LSCM B.Com. (Tourism) Degree Examination,
March/April - 2022 ‘

COMMERCE
Costing Methods
(CBCS Scheme Regular/Repeaters)
Paper : 5.4
Time : 3 Hours ~ Maximum Marks : 70

Instructions to Candidates:

Answers should be written completely either in Kannada or in English. |

‘Section - A
PN - D
Answer any FIVE sub-questions. Each sub-question carries 2 marks. (5%2=10)
33 3UNT CINR)TITTR DR LvT BZNER GUBOR. 3,303,000 BN TR L0BTD.
1. a) Give the meaning of work uncertified. '
‘B RNeIBORT FOR' WTFEDY, SVA.
b) What is job casting ?
WRTOR [, Deor oD ToFFoWTERd ?
c) Mention any two industries where operating costing is used.
| obraRrEm S, BRS00RY CUTCIRENTT CIRYTETR OB §moRnTR),
39 |
d) Give the meaning of ‘by-products’, with suitable example.
o QUBZ WD’ DOTTEI0UWTR), AT LVTOHTFO3RODN T FA.
e) What is retention money ?
T UPRBROT (qsadsa') T DOTTBED ?
'f)  What is 'Escalation Clause' ?
‘TOFS (D0F) RO’ 0wBesd> 2
g) What do you mean by -abnormal process loss’ ?
'OROTNT; T3,0dn IF' Q0TTeRd 2

[P.T.O.
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Section - B
AR - W
Answer any THREE questions. Each question carries 6 marks. (3%6=18)
1 3INT AN TE8R SRTH BB ROR V0N, T, I0IROTIER, LT BOTTI.
2. Briefly explain the different methods of costing,
dzszptaro.‘omz‘éd AN c:)z;wﬁva‘% :joégmn OO,
3.  Annual demand for the component: 9000 units; set-up cost per batch Rs. 900;

carrying cost per unit of production: 2% per annum, manufacturing cost per unit
Rs. 90; .

Calculate: a)  Economic Batch Quantity and

b) find out the number of batches to be produced to meet the annual

requirements. , )

WOTD B[RIT WofFT Bedd @ 9000 ez, T @, 1 0900 (Zd moar/
ANDIRTBT); ToNFT XTBO XOM,HT0 3, (Z,8 puEt); 2%, ot &i3; 80.900 (T8
PETT). B3 OTONYOT

)  REITFT QUTITIO TBREIREY, ‘Torie )

b)  oard weadoday FpgRed wumORIERT i), 10P) (1,1 )RTRY

(>3]

FOTO&EBOWD.
~ 4.  The following information relates to Contract No. 971
~ Particulars Amount (Rs.)
Contract Price - 80,00,000
Materials 7,00,000
Labour : 5,00,000
Tools & Equipment - 5,00,000
Plant | 12,00,000
Materials at site 1,00,000
Tools & Equipment at the end. 4,50,000

Depreciate Plant @ 5%
Work-in-Progress

Work Certified 12,00,000
Work Uncertified 2,00,000
Cash received . 4 10,00,000
Date of commencement of contract: 01-06-2021

Prepare Contract account as on 31% March 2022,
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n

2 BT Ao AR J0.971 a TOLONEI,

QITONCD 203 (Ow.)

e 33 ‘ §0,00,000
AN 7,00,000

LGN » 5,00,000

SO3T aod: OISR 5,00,000

o3 12,00,000

NS BIT ")mﬁ ROARE 03X DD 1,00,000

Satelte sﬁ:zi. JoIoRAY :3fa=<(31 3.2022 39) 4,50,000

e, nd 3 2003 IZ89 59

SR3CDYT 3OR! -
S, SRcdEons o3 12,00,000
T,SRIEOIT FOT 2,00,000

o ATTOOT TET Ted 10,00,000

rERed =,00ys BF0s 01-06-2021
31.03.2022 a” wco{m@oﬁ m,af-‘z‘:” TOWORATI0I rbéﬁ 0. 971 © &J'D@O.DNJ 3037203

A Transport company is running 5 busses between two cities which are 100 Kms
apart. The seating capacity of each bus is 50 passengers. The actual passengers
carried were 80%. Each bus made one round trip per day. All the busses run on all
the days of the month. Calculate for the month of January 2022: a) Total Kms and
b) Total Passenger Kms.

=0 0N ~o~w 100 3.Q0¢. ©030DTT HT@ JATAY ST, 5 WRONERY LARST.
14T SR TG F S0 B0AREEt. B 0IRHAT ATRO THoResED R0, ¢ 3. 80

- B WA OTF 20 me 2080 ﬁﬁo‘@od BBR0 sﬁdé IpeN ma’:b wcbec%
wojeﬁa Sonom 20 DINYOR, Row30RIB33.

: a’oe@ss DBOALeE %= 2022 A Zow0DATOS  a) 23, 3.00¢.1ED )  b) 2N,
O3REdT $.00¢.NFEY, TOEIRRCD.

£ cLgl ¢
3é {JLLE E)
L l)_

L

A factory producing article 'X' also yields Y and Z as by-products.. The Joint cost of
manufacture and subsequent expenses are as below: :
Particulars Joint . Subsequent Expenses (Rs.)

Expenses . X Y Z
s (Rs.)

Materials 1,00,000 20,000 10,000 - 5,000
Labour 50,000 15,000 - 10,000 2,500
Overheads 25,000 5,000 5,000 2,500
Total 1,75,000 . 40,000 25,000 - 10,000
Selling Prices 2,50,000 1,00,000 75,000
Estimiated profit on selling price 35% 40% 50%

Show how you would propose to apportion the joint cost of manufacture, under
reverse cost method. . |

[P.T.O.
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LORD RWRFICDY R g X' Oy Sadnomoman 'Y s 'Z' o o NESTMAS
SRTIOSS. QRNE w0 :,Dts 3 mm 33oT0H T DWFS OROAsL T be.*dorsosﬁ

QITAR %083 Sgomoodhs DWFRY  (OR.)

DWIFN X _ Y Z
(ow.) '

TN, NS 1,00.000 20,000 10,000 5,000

(IO 50,000 15.000 10,000 2,500

siase;z:g’s 25,000 5,000 5,000 2,500

Wi, ' 1,75,000 40,000 25,000 10,000

[N IS o 2,50,000 1,00,000 75,000

INTLT WSaD FoeO i

SOTRY oY 35% 40% 50%

WOES DDFNYRY ORI 068 TOoeNTOLOTY aomlm DWF TP DPITY, w0k
aazsarﬁsisgt QLTONTOR wégdojoag{ S033001.

Section - C

RPN - A
Answer any THREE questions. Each question carries fourteen marks. (3x14=42)
3 39NT CARFTTTP TRT @e;ﬁe;rﬁ V308, T 303R0T8R, sma—ama SOBN.

7.  Product 'A' passes are through three process for completion. For the month ending
'December 2021 the following the details:

Particulars : ‘ - Process

e Total S | I
Direct materials (Rs.) 74,620 10,000 30,000 34,620
Direct labour (Rs.) 2,90,000  2,00,000 40,000 50,000
Direct expenses (Rs.) 75,000 40,000 20,000 - 15,000
Production. overhead (Rs.) 15,590 4,350 - 8,710 2,530
Normal loss : _ 3% 5% 10%
Sale of scrap per unit (Rs.) 10 30 50
Production in units 950 900 830 °

1,000 units at Rs. 100 per unit were issued to process I.

Prepare process accounts, abnormal loss and abnormal gain account
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‘Al IRF) SR> cmaodm Do3NY @)gofori@oci Nd momrbed asowo’ 2021 T
3071%033 33 F$FoR c‘bddr{e&b w =N,

&)aSo’rWo | - @,8,03nd

' B3, I I 1|
363 5, MIMW (Be.) 74,620 10,000 30,000 34,620
3¢8 2rO (8n.) 2,90,000  2,00,000 40,000 50,000
368 DD (30.) 75,000 40,000 - 20,000 15,000
woETm FoedPrisd (de.) 15,590 4,350 ' 8,710 2,530
mms %, 3% 5% 10%
@ud (scrap) SRoous B8 4
(wé BB (An.) : 10 30 50
NBOY uuam : 950 900 : 830

wé g 100 de.ndod 1,000 Hueneda) 1 Se evatoe I30dn JerwNS.
eroaad“a wf:)Oi)OZi) DT HOIT 50BNTI) “orie emmw IR, I BTOBRT; oWIT
ema’n’%#ab 303504, .

8. A transport service company is running 4 buses between two cities, which are 150
Kms apart. Seating capacity of each is 60 passengers. The following particulars were
obtained from the books for the month of November 2021.

Wages of drivers, conductors, cleaners Rs. 2,40,000
Diesel, oil etc., Rs. 4,00,000
Salaries of office staff Rs. 1,00,000
Repairs and maintenance Rs. 80,000
Taxes and insurance Rs. 1,60,000
Depreciation Rs. 2,60,000
Interest and other charges Rs. 2,00,000

Actual passengers carried were 90% of the seating capacity. All the busses run 25
days of the month. Each bus made one round trip per day. Find out:

Cost per Kilometer and b) Cost per Passenger Kilometer

2,000 XOON Xewso RoZ03ND 150 §.Q0¢. €303TATT TR INORY 205, 4 WRINTEY,
LRIT. T3 WS UIS F,F 60 TodReecd. FSowst 2021 § Howopus e
&)Sdrieéab plon odo S50, 3 ma)dmo DVED T3 TYR ABRNT.

WIOTDD, Dmrsﬁd) 5330 FERT MY wRd (D) Rs.2,40,000

R0G3, 863, A0 Rs.4,00,000
36360 Aty00GD Fotw ~ Rs.1,00,000
O} R ARFBEE Rs.80,000

3or whgy s Rs.1,60,000
RS89 Rs.2,60,000
0B, I GG v Rs.2,00,000

[P.T.O.
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T, CARERT FTIRD T, 0306883 Toa3, Je. 90 TR, 2, w,uoneio Sone3. 25 O3neh

NO&?O/-JJZ;ED"
A evrta il

8 Z..)NJ aw‘c’ 2,000 2390 2.0

Lo rom Srdhod S3RTL SNTE, Teeh R

AR a) B3 wom sckpeoet . Sriens AF BF b)) B3 wowd 3 cdned

$85e00eICR Srenss DUFS BRINYS), 0B HBOD.

A company have undertaken the construction of a building on 01-07-2020 for Rs,

99,00,000.. The details regarding contract as on 31-03-2021 are as follows:

Partlculars

Materials: .

Direct from suppliers

From Stores

Direct labour

Direct expenses

Value of plant installed at site

Administrative overheads chargeable to the contract
Materials returned to suppliers

Materials returned to stores

Materials on hand at site

Accrued direct labour

Accrued chargeable cxpenscs

Sub-contract cost

Work Certified as approved by the architect

Work Uncertified at cost

Cash received 90% of work certified

Charge dcpreciation@ 15% p.a., on the value of plant
Prepare: 1) Contract Account and 2) Contractee Account

Amount (Rs.)

30,000
10,000
3,00.000

60,00,000

2,00,000

WOT FOTROI 90 ©F dewony S.Jw »J:SM {“‘u mér’cw BIODFRT), DT0E

01-07-2020 Do §reo&s. 31-03-2021 &'Immr

B8 BPFOE03I.

AN fea{EA) 302 (on.)
RoE3oN, NsD:

*dwcam*adt)ocs JeToN 343602Ju3 25,00,000
el atevbleln] Wo&)&c’o 5,00,000
360 8d ) 25,00,000
360 DFNLL 2,00,000
NRETSTY TORAWT 00, TT[TAH 10,00,000
RO3RT ZOWODAE SEETIF Sed L 50.000
ROLITAEITOOR LODTNNE TN, R 25.000
SRR LOQTONAET TN, YD 5.000
Q&3¢ 553&3@0&5 oION), l\'\';t) 22.500
Se0 8RO s (3 £0033) 30,000
360 Dworny wod (Fowdd) 10.000
VT-rO3RD e 3,00,000
RO .u,:ﬁ‘résss::&b; v 60,00,000

w&‘i)"i“}\ﬁO—vu 3

2.00.000

Sedn fDéT’IJ »JO@OQLU .d..qU i*b)



(MA@ - ™ ‘ - 13524

10.

3R DRTI0eT TRHHT T = [,RRITOAT ORI Je.90 dai:u
odod, r%sdm‘? ReOT ITTY - AFT 15%
1) 3R 08 DR (2) ™R VeRVIT 030D, IoIROR.

The following expenses were incurred on Job No. J-1234.

(a) Direct Materials - Rs. 45,000

(b) Direct Wages: h
Department X 25 hours @ Rs. 90 per hour
Department Y 20 hours @ Rs. 50 per hour
Department Z 15 hours @ Rs. 80 per hour

(c) Works overheads of these departments were estimated as under:
Department X Rs. 40,000 for 2,500 working hours
Department Y ' Rs. -60,000 for 3,000 working hours
Department Z Rs. 30,000 for 2,250 working hours

(d) Office overheads were Rs. 2,00,000 when total direct wages paid in ail these
departments were Rs. 5,00,000. lt is the practice to recover office expenses as
a percentage of direct wages.

You are required to calculate the cost of Job No. J-1234 and the prlce to glve a

proﬁt of 50% on selling price. ‘

2 2P0 DENL VB FoR J-1234 1 Xorsonas.

(a) Seo mTONNLL 0».45,000

(b) e 3RO - |
i X 25 noednsd, =,8 notdR dr. 90 Tod
en Y | 20 notdnsb, =@ notdnt de. 50 Tod
QN Z © 15 rlegdnsb, ©,8 notdnt dr. 80 To3

(c) B Pnne DLFS BeSPRI), 83 FYToBOZ 0T WRBGING.
aeon X ' 2,500 3033 Rotiner dw. 40,000
on Y 3,000 $0%3 Rodnert . 60,000
R Z 2,250 3033 rosner de. 30,000

d) = o ;bzgarfﬁ# Sed 8pdod @EegY de. 500,000 nemon, Beid Hoedisy
0e.2,00,000 7"wNTBRE. anestne @oOREROR. WOT GRAT HFIT TeIed
R0eSUFI), Ie0 ZROD Jeamomtd BReer Boed PJORTnIZT.

we 0T J-1234 8 wi) FUFIY, Tore [Inoous Bdod Boed Je. 50 S Gz

WRTOZ [P0 WSODTY, FORILBOWD.

[P.T.O.
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11. In manufacturing the main product EXE, a company Processes the resulting waste
material into two by-products XI & X2. Using the reverse cost method, you are
required to prepare a comparative profit and loss statement of the three products
from the following data:

Total cost -upto separation point was Rs. 1,36,000.

Particulars Main By-Product
Product EXE X-1 X-2
Sales (all production) 3,28,000 32,000 48,000
Cost after separation - == 9,600 14,400
Estimated profit % on selling price ? 20% 30%
Estimated selling expenses as a percentage to sales ~ 20% 20% 20%

20T FoTACLO Bew wuSFmem EXE o) 3o3nodomon, ev9B BTY Xl D
X2. 20V VW GOT-YUSZAII), SEROWIT. 391 BPUTT ATTNYOT LHIND
DDF S50 AERTVTRY, WHRBROR DVTFT word B0 ST TEL3oDTy ScdrRor.
GUSFNRD T3, BRAWITONG Wi, udr de.1,36,000.

QARONL ASInY) UDES—U‘DSUQL
ev33 EXE X-1 X-2
[RoL (JoTpeeF em'saucsai) 3,28,000 32,000 48,000
SI N ge’sﬁ;‘ﬁmd S030T DWF - 9,600 14,400
Snooe3d 330 0083 90T JETHEIDIR &3 ? 20% 30%

SNoLIT ¢S S0TR) FEBEITT) IRTIT s 20% 20% 20%




